
Přílohy 

Příloha č. 1 – Záznam porodnické analgezie 

Záznam porodnické analgezie 
datum: …….…….…….…….…….…….…….……. vzdělání:      ….……….……….…………….……. 

věk: ………. let     gravidita/parita:    ……/….. použitá metoda:   ……….……….……….………. 

výška: …….cm    hmotnost:  ….kg   BMI:  ……….  

váhový přírůstek v těhotenství:  ………. kg gestační týden: …….gt +…….     PP:  PPHL 

 délka porodu: …….hod ……. min 

 

Indikace porodnické analgezie:    

❏ žádost rodičky pro porodní bolest 

❏ jiná 

Metody porodnické analgezie 

Nefarmakologické metody  Systémová analgezie  Regionální analgezie Neuroaxiální analgezie 

❏ hydroanalgezie 

❏ akupunktura / 
akupresura 

❏ TENS 

❏ audioanalgezie 

❏ aromaterapie 

❏ homeopatie 

❏ alternativní 
polohy 

❏ hypnósa 

❏ jiný druh:  

❏ N2O 

❏ jiný druh: 

❏ pudendální 
analgezie 

❏ paracervikální 
analgezie 

❏ epidurální analgezie 

❏ subarachnoidální 
analgezie 

❏ kombinovaná (CSE) 

 

Neuroaxiální analgezie: 
 

Poloha: Detekce: Anestetikum: Analgetikum: Katétr: 

❏ vleže 

❏ vsedě 

❏ jiná 

❏ taktilní 

❏ vizuální 

❏ jiná 

❏ levobupivakain 

❏ bupivakain 

❏ jiné 

❏ fentanyl 

❏ sufentanil 

❏ jiné 

❏ zaveden 

❏ obtíže 

❏ nezaveden 

❏ odstraněn 

koncentrace:............................... množství: ...............................  
 
Časné anesteziologické komplikace 
 

❏ >2 pokusy ❏ krvácení 

❏  

❏ perforace dury 
mater  

 

❏  pokles TK 
pod 100 
mmHG 

❏ naus
ea, vomitus 

❏ dyspnoe ❏ pruritus ❏ jiné 

Pozdní anesteziologické komplikace 



❏ retence 
moči 

❏ cefalea  
 

❏  bolest zad ❏ poru
chy čití 

❏ jiné   

Porodní křivka: 

Medikace: 
TK: 

  

                                                           

3 cm                                                           

4 cm                                                           

5 cm                                                           

6 cm                                                           

7 cm                                                           

8 cm                                                           

lem                                                           

zánik branky                                                           

porod                                                           

placenta                                                           

 

Přídavná dávka: 

Naropin      ……….%       ………. ml 
Chirocain    ……….%       ………. ml 
Marcain      ………. %      ………. ml 

Sufentanyl 1ml a 5 ug ………. ml 
FR 1/1                            ………. ml 

 
 
Medikace za porodu 

❏ uterotonika 

❏ spaspolytika 

❏ jiné: 

 

 

Ukončení porodu:  datum: ……….……….  čas: ……….………. 
 

❏ spontánní
  

❏ per forcipem 
indikace:  

❏ vakuumextrakce 
indikace: 

❏ section caesarea 
indikace: 

 

 
 
 

❏ trvání I. DP …..…..hod…..…..min 

❏ trvání II. DP  …..…..hod…..…..min 

❏ trvání III. DP  …..…..hod…..…..min 

❏ porodní poranění …………………. 

Novorozenec: 

❏ pohlaví: …………………….. 

❏ hmotnost: ……………….... 

❏ délka: ……………………… 



❏ Apgar scóre: 
1. min ….. 5. min ….. 10. min ….. 

 
Příloha č. 2 – Výstupy ze statistického programu Statgraphics 
 

Two Sample Comparison - Nefarm. kontr. sk. - I. DP & Epiduralni analgezie - I. DP  
Sample 1: Nefarm. kontr. sk. - I.DP (hod)  
Sample 2: Epiduralni analgezie - I.DP (hod) 
 
Sample 1: 20 values ranging from 2,0 to 11,75 
Sample 2: 20 values ranging from 2,3333 to 22,3333 
 
The StatAdvisor  
This procedure is designed to compare two samples of data.  It will calculate various statistics 
and graphs for each sample, and it will run several tests to determine whether there are 
statistically significant differences between the two samples. 
 
Summary Statistics 

 Nefarm. Kontr. Sk. – I. DP Epiduralni analgezie – I. DP 

Count 20 20 

Average 5,37332 6,73247 

Standard deviation 3,15526 4,33319 

Coeff. of variation 58,7208% 64,3626% 

Minimum 2,0 2,3333 

Maximum 11,75 22,3333 

Range 9,75 20,0 

Stnd. Skewness 1,4863 4,70507 

Stnd. Kurtosis -0,463247 8,12676 

 
The StatAdvisor  
This table shows summary statistics for the two samples of data.  Other tabular options within 
this analysis can be used to test whether differences between the statistics from the two 
samples are statistically significant.  Of particular interest here are the standardized skewness 
and standardized kurtosis, which can be used to determine whether the samples come from 
normal distributions.  Values of these statistics outside the range of -2 to +2 indicate significant 
departures from normality, which would tend to invalidate the tests which compare the 
standard deviations.  In this case, Epiduralni analgezie - I.DP has a standardized skewness value 
outside the normal range.  Epiduralni analgezie - I.DP has a standardized kurtosis value outside 
the normal range.   
 
Comparison of Means  
95,0% confidence interval for mean of Nefarm. kontr. sk. - I.DP: 5,37332 +/- 1,47671   [3,89661; 
6,85003]  



95,0% confidence interval for mean of Epiduralni analgezie - I.DP: 6,73247 +/- 2,028   [4,70447; 
8,76048]  
95,0% confidence interval for the difference between the means   assuming equal variances: -
1,35915 +/- 2,42642   [-3,78557; 1,06726] 
 
 
 
t test to compare means 
Null hypothesis: mean1 = mean2    
Alt. hypothesis: mean1 NE mean2      
 assuming equal variances: t = -1,13396   P-value = 0,263913    
Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor  
This option runs a t-test to compare the means of the two samples.  It also constructs 
confidence intervals or bounds for each mean and for the difference between the means.  Of 
particular interest is the confidence interval for the difference between the means, which 
extends from -3,78557 to 1,06726.  Since the interval contains the value 0, there is not a 
statistically significant difference between the means of the two samples at the 95,0% 
confidence level.   
 
A t-test may also be used to test a specific hypothesis about the difference between the means 
of the populations from which the two samples come.  In this case, the test has been 
constructed to determine whether the difference between the two means equals 0,0 versus the 
alternative hypothesis that the difference does not equal 0,0.  Since the computed P-value is 
not less than 0,05, we cannot reject the null hypothesis.   
 
NOTE: these results assume that the variances of the two samples are equal.  In this case, that 
assumption appears to be reasonable based on the results of an F-test to compare the standard 
deviations.  You can see the results of that test by selecting Comparison of Standard Deviations 
from the Tabular Options menu.   
 
Comparison of Standard Deviations  

 Nefarm. kontr. sk. – I. DP Epiduralni analgezie . I. DP 

Standard deviation 3,15526 4,33319 

Variance 9,95564 18,7766 

Df 19 19 

Ratio of Variances = 0,530216 
 
95,0% Confidence Intervals  
     Standard deviation of Nefarm. kontr. sk. - I.DP: [2,39954; 4,60848] 
     Standard deviation of Epiduralni analgezie - I.DP: [3,29535; 6,32894] 
     Ratio of Variances: [0,209866; 1,33956] 
 



F-test to Compare Standard Deviations 
   Null hypothesis: sigma1 = sigma2 
   Alt. hypothesis: sigma1 NE sigma2 
   F = 0,530216     P-value = 0,175836 
   Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor 
This option runs an F-test to compare the variances of the two samples.  It also constructs 
confidence intervals or bounds for each standard deviation and for the ratio of the variances.  
Of particular interest is the confidence interval for the ratio of the variances, which extends 
from 0,209866 to 1,33956.  Since the interval contains the value 1, there is not a statistically 
significant difference between the standard deviations of the two samples at the 95,0% 
confidence level.  
  
An F-test may also be used to test a specific hypothesis about the standard deviations of the 
populations from which the two samples come.  In this case, the test has been constructed to 
determine whether the ratio of the standard deviations equals 1,0 versus the alternative 
hypothesis that the ratio does not equal 1,0.  Since the computed P-value is not less than 0,05, 
we cannot reject the null hypothesis.   
 
IMPORTANT NOTE:  the F-tests and confidence intervals shown here depend on the samples 
having come from normal distributions.  To test this assumption, select Summary Statistics from 
the list of Tabular Options and check the standardized skewness and standardized kurtosis 
values.   
 
Two Sample Comparison - Nefarm. kontr. sk. - II. DP & Epiduralni analgezie - II. DP  
Sample 1: Nefarm. kontr. sk. - II.DP (hod)  
Sample 2: Epiduralni analgezie - II.DP (hod) 
 
Sample 1: 20 values ranging from 0,0833 to 1,9333  
Sample 2: 20 values ranging from 0,0833 to 2,0333 
 
The StatAdvisor  
This procedure is designed to compare two samples of data.  It will calculate various statistics 
and graphs for each sample, and it will run several tests to determine whether there are 
statistically significant differences between the two samples. 
 
Summary Statistics 

 Nefarm. Kontr. Sk. – II. DP Epiduralni analgezie – II. DP 

Count 20 20 

Average 0,56197 0,54664 

Standard deviation 0,474044 0,463791 

Coeff. of variation 84,3539% 84,844% 



Minimum 0,0833 0,0833 

Maximum 1,9333 2,0333 

Range 1,85 1,95 

Stnd. Skewness 2,79613 3,50192 

Stnd. Kurtosis 2,14985 4,19935 

 
The StatAdvisor  
This table shows summary statistics for the two samples of data.  Other tabular options within 
this analysis can be used to test whether differences between the statistics from the two 
samples are statistically significant.  Of particular interest here are the standardized skewness 
and standardized kurtosis, which can be used to determine whether the samples come from 
normal distributions.  Values of these statistics outside the range of -2 to +2 indicate significant 
departures from normality, which would tend to invalidate the tests which compare the 
standard deviations.  In this case, both samples have standardized skewness values outside the 
normal range.  Both samples have standardized kurtosis values outside the normal range. 
 
Comparison of Means  
95,0% confidence interval for mean of Nefarm. kontr. sk. - II.DP: 0,56197 +/- 0,22186   [0,34011; 
0,78383]  
95,0% confidence interval for mean of Epiduralni analgezie - II.DP: 0,54664 +/- 0,217061   
[0,329579; 0,763701]  
95,0% confidence interval for the difference between the means 
 assuming equal variances: 0,01533 +/- 0,300205   [-0,284875; 0,315535] 
 
t test to compare means   
Null hypothesis: mean1 = mean2   
Alt. hypothesis: mean1 NE mean2 
 assuming equal variances: t = 0,103376   P-value = 0,918208    
Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor  
This option runs a t-test to compare the means of the two samples.  It also constructs 
confidence intervals or bounds for each mean and for the difference between the means.  Of 
particular interest is the confidence interval for the difference between the means, which 
extends from -0,284875 to 0,315535.  Since the interval contains the value 0, there is not a 
statistically significant difference between the means of the two samples at the 95,0% 
confidence level.   
 
A t-test may also be used to test a specific hypothesis about the difference between the means 
of the populations from which the two samples come.  In this case, the test has been 
constructed to determine whether the difference between the two means equals 0,0 versus the 
alternative hypothesis that the difference does not equal 0,0.  Since the computed P-value is 
not less than 0,05, we cannot reject the null hypothesis.   
 



NOTE: these results assume that the variances of the two samples are equal.  In this case, that 
assumption appears to be reasonable based on the results of an F-test to compare the standard 
deviations.  You can see the results of that test by selecting Comparison of Standard Deviations 
from the Tabular Options menu.  
 
Comparison of Standard Deviations  

 Nefarm. kontr. sk. – II. DP Epiduralni analgezie . II. DP 

Standard deviation 0,474044 0,463791 

Variance 0,224717 0,215102 

Df 19 19 

Ratio of Variances = 1,0447 
 
 
95,0% Confidence Intervals 
     Standard deviation of Nefarm. kontr. sk. - II.DP: [0,360506; 0,692375]  
     Standard deviation of Epiduralni analgezie - II.DP: [0,352709; 0,6774] 
     Ratio of Variances: [0,413505; 2,63938] 
 
F-test to Compare Standard Deviations 
   Null hypothesis: sigma1 = sigma2 
   Alt. hypothesis: sigma1 NE sigma2   F = 1,0447   P-value = 0,925064 
   Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor 
This option runs an F-test to compare the variances of the two samples.  It also constructs 
confidence intervals or bounds for each standard deviation and for the ratio of the variances.  
Of particular interest is the confidence interval for the ratio of the variances, which extends 
from 0,413505 to 2,63938.  Since the interval contains the value 1, there is not a statistically 
significant difference between the standard deviations of the two samples at the 95,0% 
confidence level.   
 
An F-test may also be used to test a specific hypothesis about the standard deviations of the 
populations from which the two samples come.  In this case, the test has been constructed to 
determine whether the ratio of the standard deviations equals 1,0 versus the alternative 
hypothesis that the ratio does not equal 1,0.  Since the computed P-value is not less than 0,05, 
we cannot reject the null hypothesis.   
 
IMPORTANT NOTE:  the F-tests and confidence intervals shown here depend on the samples 
having come from normal distributions.  To test this assumption, select Summary Statistics from 
the list of Tabular Options and check the standardized skewness and standardized kurtosis 
values.  
 
Two Sample Comparison - Nefarm. kontr. sk. – celk. DP & Epiduralni analgezie – celk. DP 
Sample 1: Nefarm. kontr. sk. – celk. DP (hod) 



Sample 2: Epiduralni analgezie - celk.DP (hod) 
 
Sample 1: 20 values ranging from 2,4666 to 12,6667  
Sample 2: 20 values ranging from 2,8333 to 23,4166 
 
The StatAdvisor  
This procedure is designed to compare two samples of data.  It will calculate various statistics 
and graphs for each sample, and it will run several tests to determine whether there are 
statistically significant differences between the two samples. 
 

 Nefarm. Kontr. Sk. – celk. DP Epiduralni analgezie – celk. 
DP 

Count 20 20 

Average 6,12164 7,46414 

Standard deviation 3,36724 4,57413 

Coeff. of variation 55,0055% 61,2815% 

Minimum 2,4666 2,8333 

Maximum 12,6667 23,4166 

Range 10,2001 20,5833 

Stnd. Skewness 1,44474 4,33918 

Stnd. Kurtosis -0,518848 6,895 

 
The StatAdvisor  
This table shows summary statistics for the two samples of data.  Other tabular options within 
this analysis can be used to test whether differences between the statistics from the two 
samples are statistically significant.  Of particular interest here are the standardized skewness 
and standardized kurtosis, which can be used to determine whether the samples come from 
normal distributions.  Values of these statistics outside the range of -2 to +2 indicate significant 
departures from normality, which would tend to invalidate the tests which compare the 
standard deviations.  In this case, Epiduralni analgezie - celk.DP has a standardized skewness 
value outside the normal range.  Epiduralni analgezie - celk.DP has a standardized kurtosis value 
outside the normal range.   
 
Comparison of Means 
 95,0% confidence interval for mean of Nefarm. kontr. sk. - celk.DP: 6,12164 +/- 1,57592   
[4,54572; 7,69756]  
95,0% confidence interval for mean of Epiduralni analgezie - celk.DP: 7,46414 +/- 2,14077   
[5,32337; 9,60491]  
95,0% confidence interval for the difference between the means   assuming equal variances: -
1,3425 +/- 2,57111   [-3,91361; 1,22861] 
 
t test to compare means  
  Null hypothesis: mean1 = mean2 



   Alt. hypothesis: mean1 NE mean2 
      assuming equal variances: t = -1,05704   P-value = 0,297168 
   Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor 
This option runs a t-test to compare the means of the two samples.  It also constructs 
confidence intervals or bounds for each mean and for the difference between the means.  Of 
particular interest is the confidence interval for the difference between the means, which 
extends from -3,91361 to 1,22861.  Since the interval contains the value 0, there is not a 
statistically significant difference between the means of the two samples at the 95,0% 
confidence level.   
 
A t-test may also be used to test a specific hypothesis about the difference between the means 
of the populations from which the two samples come.  In this case, the test has been 
constructed to determine whether the difference between the two means equals 0,0 versus the 
alternative hypothesis that the difference does not equal 0,0.  Since the computed P-value is 
not less than 0,05, we cannot reject the null hypothesis.   
 
NOTE: these results assume that the variances of the two samples are equal.  In this case, that 
assumption appears to be reasonable based on the results of an F-test to compare the standard 
deviations.  You can see the results of that test by selecting Comparison of Standard Deviations 
from the Tabular Options menu.   
 
Comparison of Standard Deviations  

 Nefarm. kontr. sk. – celk. DP Epiduralni analgezie . celk. 
DP 

Standard deviation 3,3672 4,57413 

Variance 11,3383 20,9227 

Df 19 19 

Ratio of Variances = 0,541914 
 
95,0% Confidence Intervals 
     Standard deviation of Nefarm. kontr. sk. - celk.DP: [2,56075; 4,91809] 
     Standard deviation of Epiduralni analgezie - celk.DP: [3,47858; 6,68085] 
     Ratio of Variances: [0,214496; 1,36912] 
 
F-test to Compare Standard Deviations 
   Null hypothesis: sigma1 = sigma2 
   Alt. hypothesis: sigma1 NE sigma2   F = 0,541914   P-value = 0,19093 
   Do not reject the null hypothesis for alpha = 0,05. 
 
The StatAdvisor  
This option runs an F-test to compare the variances of the two samples.  It also constructs 
confidence intervals or bounds for each standard deviation and for the ratio of the variances.  



Of particular interest is the confidence interval for the ratio of the variances, which extends 
from 0,214496 to 1,36912.  Since the interval contains the value 1, there is not a statistically 
significant difference between the standard deviations of the two samples at the 95,0% 
confidence level.   
 
An F-test may also be used to test a specific hypothesis about the standard deviations of the 
populations from which the two samples come.  In this case, the test has been constructed to 
determine whether the ratio of the standard deviations equals 1,0 versus the alternative 
hypothesis that the ratio does not equal 1,0.  Since the computed P-value is not less than 0,05, 
we cannot reject the null hypothesis.   
 
IMPORTANT NOTE:  the F-tests and confidence intervals shown here depend on the samples 
having come from normal distributions.  To test this assumption, select Summary Statistics from 
the list of Tabular Options and check the standardized skewness and standardized kurtosis 
values.   
 
Simple Regression - I.DP vs. Bez EDA = 0, s EDA = 1  
Dependent variable: I.DP (hod)  
Independent variable: bez EDA = 0, s EDA = 1  
Linear model: Y = a + b*X  
Number of observations: 40 
Coefficients 

 Least Squares Standard T  

Parameter Estimate Error Statistic P-Value 

Intercept 5,37332 0,847529 6,33998 0,0000 

Slope 1,35916 1,19859 1,13396 0,2639 

 
Analysis of Variance 

Source Sum of 
Squares 

Df Mean Square F-Ratio P- Value 

Model 18,473 1 18,473 1,29 0,2639 

Residual 545,912 38 14,3661   

Total (Corr.) 564,385 39    

 
Correlation Coefficient = 0,180918  
R-squared = 3,27312 percent  
R-squared (adjusted for d.f.) = 0,727679 percent  
Standard Error of Est. = 3,79027  
Mean absolute error = 2,65483 
 Durbin-Watson statistic = 1,82291 (P=0,2331) 
 Lag 1 residual autocorrelation = 0,0844924 
 
The StatAdvisor  



The output shows the results of fitting a linear model to describe the relationship between I.DP 
and bez EDA = 0, s EDA = 1.  The equation of the fitted model is 
 
   I.DP = 5,37332 + 1,35916*bez EDA = 0, s EDA = 1 
 
Since the P-value in the ANOVA table is greater or equal to 0,05, there is not a statistically 
significant relationship between I.DP and bez EDA= 0, s EDA = 1 at the 95,0% or higher 
confidence level. 
 
The R-Squared statistic indicates that the model as fitted explains 3,27312% of the variability in 
I.DP.  The correlation coefficient equals 0,180918, indicating a relatively weak relationship 
between the variables.  The standard error of the estimate shows the standard deviation of the 
residuals to be 3,79027.  This value can be used to construct prediction limits for new 
observations by selecting the Forecasts option from the text menu. 
 
The mean absolute error (MAE) of 2,65483 is the average value of the residuals.  The Durbin-
Watson (DW) statistic tests the residuals to determine if there is any significant correlation 
based on the order in which they occur in your data file.  Since the P-value is greater than 0,05, 
there is no indication of serial autocorrelation in the residuals at the 95,0% confidence level.   
 
Simple Regression - II.DP vs. II.DP bez EDA= 0, s EDA = 1  
Dependent variable: II.DP (hod)  
Independent variable: II.DP bez EDA = 0, s EDA = 1  
Linear model: Y = a + b*X  
Number of observations: 40 
 
Coefficients 

 Least Squares Standard T  

Parameter Estimate Error Statistic P-Value 

Intercept 0,56197 0,104859 5,35927 0,0000 

Slope -0,01533 0,148294 -0,103376 0,9182 

 
Analysis of Variance 

Source Sum of 
Squares 

Df Mean Square F-Ratio P- Value 

Model 0,00235009 1 0,0023500 0,01 0,9182 

Residual 8,35657 38 0,21991   

Total (Corr.) 8,35892 39    

 
 
Correlation Coefficient = -0,0167674  
R-squared = 0,0281147 percent  
R-squared (adjusted for d.f.) = -2,60272 percent  



Standard Error of Est. = 0,468945  
Mean absolute error = 0,346698  
Durbin-Watson statistic = 2,34987 (P=0,8322)  
Lag 1 residual autocorrelation = -0,174966 
 
The StatAdvisor  
The output shows the results of fitting a linear model to describe the relationship between II.DP 
and II.DP bez EDA = 0, s EDA = 1.  The equation of the fitted model is 
 
   II.DP = 0,56197 - 0,01533*II.DP bez EDA = 0, s EDA = 1 
 
Since the P-value in the ANOVA table is greater or equal to 0,05, there is not a statistically 
significant relationship between II.DP and II.DP bez EDA = 0, s EDA = 1 at the 95,0% or higher 
confidence level. 
 
The R-Squared statistic indicates that the model as fitted explains 0,0281147% of the variability 
in II.DP.  The correlation coefficient equals -0,0167674, indicating a relatively weak relationship 
between the variables.  The standard error of the estimate shows the standard deviation of the 
residuals to be 0,468945.  This value can be used to construct prediction limits for new 
observations by selecting the Forecasts option from the text menu. 
 
The mean absolute error (MAE) of 0,346698 is the average value of the residuals.  The Durbin-
Watson (DW) statistic tests the residuals to determine if there is any significant correlation 
based on the order in which they occur in your data file.  Since the P-value is greater than 0,05, 
there is no indication of serial autocorrelation in the residuals at the 95,0% confidence level.   
 
Simple Regression - Delka porodu vs. Del. p. Bez EDA = 0, s EDA = 1  
Dependent variable: Delka porodu (hod)  
Independent variable: Del. p. Bez EDA = 0, s EDA = 1  
Linear model: Y = a + b*X  
Number of observations: 40 
 
 
Coefficients 

 Least Squares Standard T  

Parameter Estimate Error Statistic P-Value 

Intercept 6,12164 0,898067 6,81646 0,0000 

Slope 1,3425 1,27006 1,05704 0,2972 

 
Analysis of Variance 

Source Sum of 
Squares 

Df Mean Square F-Ratio P- Value 

Model 18,0231 1 18,0231 1,12 0,2972 



Residual 612,959 38 16,1305   

Total (Corr.) 630,982 39    

 
Correlation Coefficient = 0,169007  
R-squared = 2,85635 percent  
R-squared (adjusted for d.f.) = 0,299939 percent  
Standard Error of Est. = 4,01628  
Mean absolute error = 2,88376 
 Durbin-Watson statistic = 1,82848 (P=0,2386) 
 Lag 1 residual autocorrelation = 0,0809113 
 
The StatAdvisor  
The output shows the results of fitting a linear model to describe the relationship between 
Delka porodu and Del. p. Bez EDA= 0, s EDA = 1. The equation of the fitted model is 
 
   Delka porodu = 6,12164 + 1,3425*Del. p. Bez EDA = 0, s EDA = 1 
 
Since the P-value in the ANOVA table is greater or equal to 0,05, there is not a statistically 
significant relationship between Delka porodu and Del. p. Bez EDA = 0, s EDA = 1 at the 95,0% 
or higher confidence level. 
 
The R-Squared statistic indicates that the model as fitted explains 2,85635% of the variability in 
Delka porodu.  The correlation coefficient equals 0,169007, indicating a relatively weak 
relationship between the variables.  The standard error of the estimate shows the standard 
deviation of the residuals to be 4,01628.  This value can be used to construct prediction limits 
for new observations by selecting the Forecasts option from the text menu. 
 
The mean absolute error (MAE) of 2,88376 is the average value of the residuals.  The Durbin-
Watson (DW) statistic tests the residuals to determine if there is any significant correlation 
based on the order in which they occur in your data file.  Since the P-value is greater than 0,05, 
there is no indication of serial autocorrelation in the residuals at the 95,0% confidence level.    



Příloha č. 3 – Doporučený postup analgezie u vaginálního porodu ČGPS a ČLS JEP 
 (Bláha, 2018) 
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